Math 240 - Quiz 4
September 30, 2021
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Show all work to receive full credit. Supply explanatlons when necessary. This quiz is due
October 5.

1. (2.5 points) Given that y(z) = ze® is a particular solution of

y' Sy — 12y = (1 — 12z)e"

find the general solutio,n.
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2. (2.5 points) Find two linearly independent solutions of

y" + 12y + 36y = 0.

Compute the Wronskian to show that your solutions are independent
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Turn over.
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3. (2.5 points) Solve: 34—‘?1 - % =0
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(2.5 points) Solve: y” — 4y’ + 13y =0; y(0)
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